

11

13.10.17

13.10.17

13.10.17

1) $t = f$ $t + r_d = 41$ $t_n = r \cdot \Delta$ $n = ?$

$r_o + r_d = 41$

$r_d = r$

$d = v$ $t_n = f + v(n-1) = r \cdot \Delta$

$v_n - v = 14\Delta$

$v_n = 14\Delta$

$n = 2\Delta \rightarrow 170 \text{ cm}$

2) $t_n = v_n + r$

$\dots \leq v_n + r < \dots$

$99 \leq v_n < 99V$

$13 \dots \leq n < 14 \dots$

$14r - 14 + 1 = 129$ $r = 9$

3) $a_{n+1} + a_{n+r} + a_{n+r} = -9n + 17$

$a_n + d + a_n + r_d + a_n + r_d = -9n + 17$

$a_{17} + a_{17} = ?$

$r a_n + 4d = -9n + 17$

$a_{14} + a_{14} + a_{14} = ?$

$a_n + r_d = -9n + 17$

$r a_{17} + r_d$

$(n-1)d + a + r_d = -9n + 17$

$r + r(-r)$

$(n)d - d + a + r_d = -9n + 17$

$r - r^2 = -4r$

$d = -r = -9$

$a - d = 17$

$a + r = 17$

$a = r$

4) $r^n - 1$, r^{n+1} , $r^n - r$

$\downarrow$
 $a + r_d$

$\downarrow$
 $a + v_d$

$\downarrow$
 $a + r_d$

$r \geq 17 \geq 17$

$r^{17} + 17 = 17^2$

$r^{17} - r + r^{17} - 1 = r^{17+1}$

$r^n (r^n r) - r = r^n \times r$

$r^n (r^n + 1) = r (r^n + 1)$

$r^n = r$

$n = 1$

2) $a + 11d = (a + 9d) = d$ $a + 11d + a + 9d = 2d$ $a_{11} = ?$ فرض کنیم $a_1 = a$

$rd = d$

$d = \frac{d}{r}$

$ra + 11 \times \frac{d}{r} + 9 \times \frac{d}{r} = 2d$

$\frac{aa + 19d}{r} = 2d$
 $ra + d = 2d$

$ra = -rd$

$a = -\frac{rd}{r}$

$a + r \cdot d$

$\frac{-rd + r \cdot d}{r} = \frac{-rd + rd}{r} = \frac{0}{r} = 0$

$-11 \times \frac{d}{r} + d = \frac{-11d + rd}{r} = \frac{-10d}{r}$

4) $a_1 + a_r + a_r + a_r + a_r = \frac{1}{r} (a_1 + a_r + a_r + a_r + a_r)$

$\frac{a_r}{a_1} = ?$

$\frac{a}{r} (a + a + d) = \frac{1}{r} \times \frac{d}{r} \times (a + 2d + a + 9d)$

$\frac{a + d}{a} = \frac{a + ra}{a}$

$ra + rd = \frac{1}{r} (ra + rd)$

$\frac{ra}{a} = \frac{a}{a}$

$a + rd = \frac{1}{r} (a + rd)$

$\frac{a + rd}{a + rd} = \frac{1}{r}$

$ra + 4d = a + rd$

5) $f_n = f_{n-r} + 12$

$ra = d$

$f_n = f_{n-r} - rd + 12$

$rd = 12$ $d = 12$

$f_9 - f_5$

f_9

$\frac{ra + d}{(f_9 + f_5)} = \frac{ra + d}{(f_9 - f_5)} = \frac{12d}{12d} = 1$

$\frac{f_9 + f_5}{r} = f_7$

$f_9 + f_5 = rf_7$

6) $r(1 - 4\sqrt{r})$

$r + \sqrt{r}$

$a + 11d = r\sqrt{r}$

Star: $r(1 - 4\sqrt{r})$

$r - 11\sqrt{r} + 11d = r + \sqrt{r}$

$11d = 11\sqrt{r}$

$d = \sqrt{r} \rightarrow \text{Ciklo}$

7) r, rr

$f_n - r$

$a_{f_n-1} = rr$

$a_{f_n} - d = rr$

$a_{f_n} = rr + d$

$a_n = 11$

$a + (n-1)d = 11$

$a + (f_n-1)d = rr + d$

$a + nd - d = 11$

$a + f_n d - d = rr + d$

$nd = 11 - a + d$

$a + f_n d = rr + rd$

$-f_n = 11 - r - r$

$a + r(11 - a + d) = rr + rd$

$n = \frac{-4}{r} \Rightarrow -r \times$

$a + rr = ra + rd = rr + rd$

$1r = ra - rd \Rightarrow 1r = r - rd$

$-4 = rd$ $d = -r$

1 /

9.13)

$$a_k = r + (k-1)d$$

for $k=1, 2, \dots$

$$a_{r_{n-1}} = r \rightarrow r + (r_{n-1} - r)d = r$$

$$(r_{n-1} - r)d = 0$$

$$r_{n-1} = r$$

$$d = \frac{18}{r_{n-1}}$$

$$a_{n+1} = 11$$

$$a_{n+1} = r + nd$$

$$r + nd = 11$$

$$nd = 9$$

$$d = \frac{9}{n}$$

$$\frac{18}{r_{n-1}} = \frac{9}{n}$$

$$18n = 9(r_{n-1})$$

$$2n = r_{n-1}$$

1. د) $a_n + a_{n+1} = a_r + a_v$

$$r + (n-1)d + r + nd = r + d + r + nd$$

$$a_n = r$$

$$r + nd + r + nd = r + d + r + nd$$

$$n=1$$

$$a_2 = 0$$

$$a_n = r$$

$$a + vd = r(a + rd)$$

$$a + vd = ra + rd$$

$$0 = ra + rd$$

$$0 = a + d \rightarrow \text{is not possible}$$